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Summary of Inventory Costing Methods خلاصة طرق كلفة الخزٌن 

Illustration below summarizes the results for the three inventory costing methods for Samer Company. It 

shows sales revenue, cost of goods sold, and gross profit: 

وٍفح اٌثعاػح اٌّثاػح  ٚ ٌرذذ٠ذ ذىا١ٌف اٌخز٠ٓ فٟ ششوح ساِش. ٠ث١ٓ ا٠شاداخ اٌّث١ؼاخ اٌصلاشحٌطشق اٌّصاي اٌرٛظ١ذٟ ادٔاٖ ٠ٍخص ٔرائج ا

 .  ٚاجّاٌٟ اٌشتخ

Summarized results of Inventory Costing Methods Illustration 

 Average Cost FIFO LIFO 

Sales Revenues $1,120 $1,120 $1,120 

Cost of Goods Sold      635       632       648 

Gross Profit $  485 $  488 $  472 

 

The illustration shows that FIFO produces the lowest cost of goods sold and the highest gross profit for Samer 

Company. Because operating expenses will be the same, regardless of which inventory method a company 

uses, net income is also the highest under FIFO when inventory costs are rising. Many companies prefer high 

income in order to attract investors and borrow on good terms. FIFO offers this benefit in a period of rising 

prices. 

٠ث١ٓ اٌشىً اْ اٌفا٠فٛ ذؼطٟ الً وٍفح تعاػح ِثاػح ٚاػٍٝ اجّاٌٟ ستخ ٌششوح ساِش. لاْ ِصاس٠ف اٌرشغ١ً سرىْٛ ٔفسٙا تغط إٌظش ػٓ اٞ 

غش٠مح خز٠ٓ ذسرخذَ فاْ صافٟ اٌشتخ س١ىْٛ اػٍٝ ٚفك غش٠مح فا٠فٛ ػٕذِا ذشذفغ وٍفح اٌخز٠ٓ. اٌؼذ٠ذ ِٓ اٌششواخ ذفعً دخً ػاٌٟ ِٓ اجً 

 رصّش٠ٓ ٚالالرشاض تششٚغ ج١ذج. ذؼطٟ غش٠مح فا٠فٛ ٘زٖ إٌّافغ فٟ فرشاخ اسذفاع الاسؼاسجزب اٌّس

LIFO results in the highest cost of goods sold and the lowest gross profit. Lower profits mean lower taxable 

income; thus, LIFO lets companies pay the lowest income taxes when inventory costs are rising. Low tax 

payments conserve cash, and that is the main benefit of LIFO. The downside of LIFO is that the company 

reports low net income.  

غ ٌٍعش٠ثح الً، ٌٙزا ذسّخ غش٠مح لا٠فٛ ذٕرج اٌلا٠فٛ وٍفح اػٍٝ ٌٍثعاػح اٌّثاػح ٚالً اجّاٌٟ ستخ ٌششوح ساِش. ٚاستاح الً ذؼٕٟ دخً خاظ

٠مح ٌٍششواخ تذفغ ظش٠ثح دخً الً ػٕذ اسذفاع اسؼاس اٌخز٠ٓ، دفغ ظش٠ثح الً ذٕؼىس ػٍٝ إٌمذ ٚ٘زٖ ٟ٘ فائذذٙا اٌشئ١س١ح. اٌجأة اٌسٍثٟ ٌطش

 اٌلا٠فٛ ٟ٘ اْ اٌششوح ذثٍغ ػٓ صافٟ دخً الً.

The average-cost method generates amounts that fall between the extremes of FIFO and LIFO. Companies that 

seek a ―middle-ground‖ solution, therefore, use the average-cost method for inventory. 

مح ٌرذذ٠ذ ذىا١ٌف غش٠مح ِرٛسػ اٌىٍفح ذؼطٟ ِثاٌغ ذمغ ت١ٓ غش٠مرٟ اٌفا٠فٛ ٚاٌلا٠فٛ ٚاٌششواخ اٌرٟ ذثذس ػٓ دٍٛي ٚسطٝ ذسرخذَ ٘زٖ اٌطش٠

 اٌخز٠ٓ

Because the specific identification method depends on the particular items sold, no generalization can be made 

about the effect of changing prices on gross profit. 
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 ٌرغ١١ش الاسؼاس ػٍٝ اجّاٌٟ اٌشتخ ٚلاْ غش٠مح اٌرذذ٠ذ إٌٛػٟ ذؼرّذ ػٍٝ ٚدذاخ ِؼ١ٕح ِثاػح ١ٌس ٕ٘ان ذأش١ش

Q 1 -                                 A  

Assume the following data with regard to inventory for Karam Company: 

Aug. 1 Inventory   44 units @ $14 per unit  $ 444 

        8 Purchase   54 units @ $11 per unit     554 

      22 Purchase   35 units @ $12 per unit     424 

Goods available for sale   125 units            $173,4  

Aug. 15 Sale   45 units 

28 Sale    25 units 

Inventory, Aug. 31   55 units 

Assuming that the inventory consists of 34 units from the August 8 purchase and 25 units from the purchase of 

August 22.  

Instructions: calculate the cost of ending inventory and cost of goods sold. 

Exercises: 

Ex. 1:  

Make the calculations asked for below given the following data: 

Inventory data - May 

May 1  Inventory  100 units @ $4.00 

  5  Purchase  200 units @ $5.00 

  6  Sale   250 units 

RE: Using the perpetual inventory system, determine the cost of goods sold associated with the sale on May 

6 under the following methods:  

(a) average-cost, (b) FIFO, and (c) LIFO 

 

 

Ex. 2: 

Fawzi specializes in designer watches and leather goods. Assume Fawzi began June holding 10 wristwatches 

that cost $50 each. During June, Fawzi bought and sold inventory as follows: 

Jun 3   Sold 8 units for $100 each 

16   Purchased 10 units @ $56 each 
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23  Sold 8 units for $100 each 

Instructions: 

1. Prepare a perpetual inventory record for Fawzi using FIFO, LIFO, and Average cost. 

2. Journalize all of Fawzi’s inventory transactions for June under all three costing methods. 

3. Show the computation of gross profit for each method. 

4. Which method maximizes net income? Which method minimizes income taxes? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Ex. 3: 

Ghanim Company had a beginning inventory balance that consisted of 4,000 units with a cost 

of $12 per unit. Purchases and sales are shown in the schedule below. The schedule suggests 

that Ghanim should have 5,000 units on hand at the end of the year. Assume that Ghanim 

conducted a physical count of inventory and confirmed that 5,000 units were actually on hand. 

Date Purchases Sales Units on 

Hand 

1 – Jan.   4,000 

5 – Mar. 6,000 units@16  10,000 
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each 

17 – Apr.  7,000 units@22 

each 

3,000 

7 – Sep. 8,000 units@17 

each 

 11,000 

11 – Nov.  6,000 units@25 

each 

5,000 

Instructions: 

1. Prepare a perpetual inventory record for Ghanim using FIFO, LIFO, and Average cost. 

2. Journalize all of Ghanim’s inventory transactions for year under all three costing 

methods. 

3. Show the computation of gross profit for each method. 

4. Which method maximizes net income? Which method minimizes income taxes? 

 

 

 

 

periodic inventory system 

Calculate inventory cost under the periodic inventory system using various costing methods                        

  احتساب كلفة الخزٌن فً ظل نظام الجرد الذوري باستخذام طرق الكلفة المختلفة

 

1- Periodic  ٌٍٛدذج. غش٠مح فا٠فٛ فٟ  47$فٟ ظً ٘زٖ اٌطش٠مح فاْ خز٠ٓ اخش اٌّذج ٠أذٟ ِٓ اٌٛدذاخ الادذز ٌٍّشرش٠اخ ٚاٌرٟ ٟ٘ تىٍفح

دذاخ اٌّشرشاج لذ٠ّا ٟ٘ اٌرٟ ذثاع اٚلا. ٌزٌه فلا فشق اْ اػرّذخ غش٠مح فا٠فٛ ٔظاِٟ اٌجشد اٌذٚسٞ ٚاٌّسرّش دائّا ذؼطٟ ٔفس إٌرائج لاْ اٌٛ

)فٟ اٌجشد  فاْ اٌّشرش٠اخ الاٌٚٝ ٟ٘ دائّا ٔفسٙا ف١ّا ارا ادرسثد وٍفح اٌثعاػح اٌّثاػح فٟ ذاس٠خ اٌث١غ )فٟ اٌجشد اٌّسرّش( اٚ فٟ ٔٙا٠ح اٌفرشج

 اٌذٚسٞ(.

Inventory Record – First-in, first-out (FIFO)        طرٌقة ماٌرد اولا ٌصرف اولا -نظام الجرد الذوري  

Under FIFO, the ending inventory comes from the newest—the most recent—purchases, which cost $47 per 

unit. Periodic and perpetual are always the same for FIFO because FIFO sells oldest inventory acquisitions 

first. Therefore, it does not matter when FIFO is calculated; the first purchase will always be the same whether 

we calculate cost of goods sold on the sale date (Perpetual) or at the end of the period (Periodic). 
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2- Periodic Inventory Record – First- out, first-in (LIFO) طرٌقة ماٌرد اخرا ٌصرف اولا -الجرد الذوري  نظام  

Under LIFO, the ending inventory comes from the oldest cost of the period—in this case the beginning 

inventory of two units that cost $40 per unit, plus one unit of the first purchase at $45 equal $125 the cost of 

ending inventory. 

 40$فٟ ٘زٖ اٌذاٌح خز٠ٓ اٚي اٌّذج ٚاٌزٞ ٠رىْٛ ِٓ ٚدذذ١ٓ تىٍفح  –فٟ ظً ٘زٖ اٌطش٠مح فاْ خز٠ٓ اخش اٌّذج ٠أذٟ ِٓ اٌىٍف الالذَ ٌٍفرشج 

 وٍفح خز٠ٓ اخش اٌّذج. 125$٠ساٚٞ  45$ٌٍٛدذج + ٚدذج ٚادذج ِٓ اٚي اٌّشرش٠اخ تىٍفح 

 

3- Periodic Inventory Record – Average Cost        طرٌقة متوسط الكلفة -نظام الجرد الذوري  

In the average-cost method, we compute a single average cost per unit for the entire period: 

 فٟ ظً ٘زٖ اٌطش٠مح ٔذسة ِؼذي وٍفح ٚادذ ٌٍفرشج وىً:

Cost of goods available   ÷    Number of units available    =    Average cost per unit 

   $773      ÷      17 units         =              $45.47 

 

Then apply this average cost to compute ending inventory and cost of goods sold, as shown in the far right 

column in illustration below: 

 لادرساب خز٠ٓ اخش اٌّذج ٚوٍفح اٌثعاػح اٌّثاػح وّا ِث١ٓ فٟ اٌجذٚي ادٔاٖ:شُ ٔسرخذَ ٘زا اٌّؼذي 

 

Illustration: Periodic Inventory System – Inventory Costing Methods 

 FIFO LIFO  Average Cost 

Cost of Goods available $773 $773 $773 

Ending Inventory 

FIFO (3 units x $47) 

LIFO (2 units x $40) + (1 units x $45) 

Average (3 units x $45.47) 

 

(141) 

 

 

(125) 

 

 

 

(136) 

Cost of Goods Sold $632 $648 $637 

 

Journal Entries under Periodic System الجرد الذوري الٍومٍة وفقا لنظام قٍود   

The accounting in a periodic system is similar to a perpetual system, except for the following aspects: 

 اٌّذاسثح فٟ ٔظاَ اٌجشد اٌذٚسٞ ِشاتٙح ٌٕظاَ اٌجشد اٌّسرّش، ػذا الاِٛس اٌرا١ٌح:

1. The periodic system uses four additional accounts; Purchases, Purchase discounts, Purchase returns and 

allowances, Freight in. In the perpetual system, all these costs go into the Inventory account.  
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For Samer Company, the journal entries under the various inventory costing methods (FIFO, LIFO, and 

average) in a periodic inventory follow the same data in illustration below: 

٠سرخذَ استغ دساتاخ اظاف١ح؛ اٌّشرش٠اخ، خصُ اٌّشرش٠اخ، ِشدٚداخ ِٚسّٛداخ اٌّشرش٠اخ، إٌمً ٌٍذاخً. فٟ ٔظاَ اٌجشد اٌذٚسٞ  -1

 ٔظاَ اٌجشد اٌّسرّش وً ٘زٖ اٌذساتاخ ذز٘ة اٌٝ دساب اٌخز٠ٓ.

ذٚسٞ ذرثغ ٔفس اٌم١ٛد فٟ ٌششوح ساِش، فاْ ل١ٛد ا١ِٛ١ٌح ٚفما ٌّخرٍف غشق ذم١١ُ اٌخز٠ٓ )اٌفا٠فٛ، اٌلا٠فٛ، اٌّؼذي( فٟ ٔظاَ اٌجشد اٌ

 اٌجذٚي ادٔاٖ:

Illustration: Periodic inventory Journal Entries (All purchases and sales on account) 

SAMER COMPANY JOURNAL  

Date 2011 Particulars Debit Credit 

July 5  Purchases ...........................................................  

   Accounts Payable ............................................  

 (Purchased inventory on account 6 x $45) 

270  

 270 

    15  Accounts receivable ...........................................  

   Sales Revenues ................................................  

 (Sales on account 4 x $80) 

320  

 320 

    15  No entry for cost of goods sold    

    26  Purchases ...........................................................  

   Accounts Payable ............................................  

 (Purchased inventory on account 9 x $47) 

423  

 423 

    31  Accounts receivable ...........................................  

   Sales Revenues ................................................  

 (Sales on account 10 x $80) 

800  

 800 

    31  No entry for cost of goods sold    

 

2. The end-of-period entries are more extensive in the periodic system because we must close out the 

beginning inventory balance and set up the cost of the ending inventory as in illustration below: 

ل١ٛد ٔٙا٠ح اٌفرشج اوصش ش١ٌّٛح فٟ ٔظاَ اٌجشد اٌذٚسٞ لإٔا ٠جة اْ ٔغٍك سص١ذ اٚي اٌّذج ٚذصث١د وٍفح خز٠ٓ اخش اٌفرشج وّا ِٛظخ فٟ  -2

 اٌجذٚي ادٔاٖ.

Illustration: Periodic inventory System – FIFO Closing Entries  

SAMER COMPANY JOURNAL  

Date 2011 Particulars Debit Credit 
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July 31  Cost of Goods Sold ............................................  

   Inventory (Beginning) .....................................  

 (Transfer beginning inventory to cost of goods 

sold) 

80  

 80 

 Inventory (Ending) .............................................  

   Cost of Goods Sold .........................................  

 (Record ending inventory physical count) 

141  

 141 

  Cost of Goods Sold ...........................................  

   Purchases .........................................................  

 (Transfer net purchases to cost of goods sold) 

693  

 693 

 Income Summery ...............................................  

   Cost of Goods Sold .........................................  

 (Close cost of goods sold) 

632  

 632 

 

3. Cost of goods sold in a periodic system is computed by the formula in following illustration: 

 وٍفح اٌثعاػح اٌّثاػح فٟ ٔظاَ اٌجشد اٌذٚسٞ ذذسة تاٌّؼادٌح فٟ اٌجذٚي ادٔاٖ. -3

 

Illustration: Periodic inventory System – Cost of goods sold formula 

 Specific Identification 

Method 

Average Cost 

Method 

FIFO 

Method 

LIFO 

Method 

Sales Revenues $1,120 $1,120 $1,120 $1,120 

Cost of Goods Sold: 

Beginning inventory 

Purchases 

Cost of goods available for sale 

Less: Ending inventory 

Cost of goods sold 

 

$  80 

  693 

$773 

  (134) 

$639 

 

$  80 

  693 

$773 

  (136) 

$637 

 

$  80 

  693 

$773 

  (141) 

$632 

 

$  80 

  693 

$773 

  (125) 

$648 

Gross Profit $481 $483 $488 $472 

 

Effects of inventory costing methods on the Financial Statements    تأثٍر طرق الخزٌن المختلفة على الكشووفا  المالٍوة

                                                                                                              

Illustration above shows the four methods of inventory costing are widely used. Each method has its 

advantages and disadvantages— none is perfect. Among the factors managers should consider in choosing an 
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inventory costing method are the trend of prices and the effects of each method on financial statements, income 

taxes, and cash flows. 

٠مح ٚلا ذٛجذ غش –اٌّصاي اٌرٛظ١ذٟ اػلاٖ ٚظخ اٌطشق الاستغ ٌرذذ٠ذ ذىا١ٌف اٌخز٠ٓ اٌّسرخذِح تشىً ٚاسغ. وً غش٠مح ٌٙا ِزا٠ا٘ا ٚػ١ٛتٙا 

ٍٝ ِصا١ٌح. ِٓ ت١ٓ ػٛاًِ ػذ٠ذج ٠جة ػٍٝ الاداسج الاخز تالاػرثاس ػٕذ اخر١اس غش٠مح ذذذ٠ذ وٍفح اٌخز٠ٓ اذجاٖ الاسؼاس ٚذأش١ش وً غش٠مح ػ

 اٌىشٛفاخ اٌّا١ٌح، ظشائة اٌذخً ٚاٌرذفماخ إٌمذ٠ح.

As illustration above summarizes how the four inventory costing methods have different effects on the cost of 

goods sold on income statement and inventory on the balance sheet when a company uses the periodic 

inventory system, the rank of the results is the same as under the perpetual inventory system, but some 

amounts have changed. In periods of rising prices, FIFO yields the highest inventory valuation, the lowest cost 

of goods sold, and hence a higher net income; LIFO yields the lowest inventory valuation, the highest cost of 

goods sold, and thus a lower net income. The gross profit under the average-cost method falls between the 

gross profits produced by LIFO and FIFO, so this method clearly has a less pronounced effect.  

اٌذخً ٚاٌخز٠ٓ فٟ  اٌّصاي اٌرٛظ١ذٟ اػلاٖ ٌخص و١ف اْ اٌطشق الاستغ ٌرذذ٠ذ ذىا١ٌف ٌٙا ذأش١ش ِخرٍف ػٍٝ وٍفح اٌثعاػح اٌّثاػح فٟ وشف

فٟ فرشاخ ا١ٌّزا١ٔح اٌؼ١ِّٛح ػٕذِا ذسرخذَ اٌششوح ٔظاَ اٌجشد اٌّسرّش، ِذٜ إٌرائج ِرشاتٗ ِغ ٔظاَ اٌجشد اٌّسرّش ٌٚىٓ تؼط اٌّثاٌغ ِرغ١شج. 

ذم١١ُ ٌٍخز٠ٓ، اػٍٝ وٍفح تعاػح اسذفاع الاسؼاس، فا٠فٛ ذٕرج اػٍٝ ذم١١ُ ٌٍخز٠ٓ، الً وٍفح تعاػح ِثاػح ِٚٓ شُ اػٍٝ صافٟ دخً، لا٠فٛ ذٕرج الً 

مح ِثاػح ِٚٓ شُ الً صافٟ دخً. اجّاٌٟ اٌشتخ ذذد غش٠مح ِؼذي اٌىٍفح ٠مغ ت١ٓ اجّاٌٟ اٌشتخ إٌاذج ِٓ غش٠مرٟ لا٠فٛ ٚفا٠فٛ، ٌزا فاْ غش٠

 اٌّؼذي ٌٙا ذأش١ش الً ٚظٛح.

. 

Ex. 4: 

Presented below is information related to radios for the Couples Company for the month of July. 

Date Transaction Units In 
Unit 

Cost 
Total 

Units 

Sold 

Selling 

Price 
Total 

July   1 Balance 100 $4.10 $  410    

6 Purchase 800 4.30 3,440    

7 Sale    300 $7.00 $2,100 

10 Sale    300 7.30 2,190 

12 Purchase 400 4.51 1,804    

15 Sale    200 7.40 1,480 

18 Purchase 300 4.60 1,380    

22 Sale    400 7.40 2,960 

25 Purchase 500 4.58 2,290    

30 Sale    200 7.50 1,500 

 Totals 2,100  $9,324 1,400  $10,230 
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Ex. 5: 

Amwaj Company uses a periodic inventory system. For April, when the company sold 600 units, the following 

information is available. 

   Units Unit Cost  Total Cost 

April 1 inventory         250       $10     $ 2,500 

April 15 purchase        400         12        4,800 

April 23 purchase        350         13        4,550 

     1,000      $11,850 

Instructions: Compute the April 30 inventory and the April cost of goods sold using the average cost method. 

 

Ex. 6: 

Assume the following data with regard to inventory for Karam Company: 

Aug. 1 Inventory   40 units @ $10 per unit  $ 400 

        8 Purchase   50 units @ $11 per unit     550 

      22 Purchase   35 units @ $12 per unit     420 

Goods available for sale   125 units            $1,370 

Aug. 15 Sale   45 units 

28 Sale    25 units 

Inventory, Aug. 31   55 units 

Assuming that the inventory consists of 30 units from the August 8 purchase and 25 units from the purchase of 

August 22. 

Instructions: calculate the cost of ending inventory and cost of goods sold. 

 

Ex. 7: 

The following table summarizes the beginning inventory, purchases, and sales of Zaid Company’s single 

product during May: 

Date Item Units Cost Total Sale Units 

May  1 Beginning inventory 2,800 $20 $56,000  

8 Purchase 1,200  22 26,400  

10 Sale    $3,200 

24 Purchase 1,600  24 38,400  

Total 5,600  $120,800 $3,200 
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Instructions: 

1. Assuming that the company uses the periodic inventory system, compute the cost that should be 

assigned to ending inventory and to cost of goods sold using (a) the average-cost method, (b) the FIFO 

method, and (c) the LIFO method. 

2. Assuming that the company uses the perpetual inventory system, compute the cost that should be 

assigned to ending inventory and to cost of goods sold using (a) the average-cost method, (b) the FIFO 

method, and (c) the LIFO method. 

3. Compute inventory turnover and days’ inventory on hand under each of the inventory cost flow 

assumptions in instruction 1. What conclusion can you draw from this comparison? 

 

Ex. 8: 

Jabber Company sells one product. Presented below is information for January for the Company. 

Jan. 1 Inventory  100 units @ $6 each 

       4  Sale     80 units @ $8 each 

      11 Purchase  150 units @ $6.50 each 

      13 Sale   120 units @ $8.75 each 

      20 Purchase  160 units @ $7 each 

      27 Sale   100 units @ $9 each 

Jabber uses the FIFO cost flow assumption. All purchases and sales are on account. 

Instructions: 

a) Assume Jabber uses a periodic system. Prepare all necessary journal entries, including the end of month 

closing entry to record cost of goods sold. A physical count indicates that the ending inventory for 

January is 110 units. 

b) Compute gross profit using the periodic system. 

c) Assume Jabber uses a perpetual system. Prepare all necessary journal entries. 

d) Compute gross profit using the perpetual system. 

 

Ex. 9: 

Mazin Inc. had the following transactions in its first month of operations. 

Date Purchases Sold or Issued Balance 

March    2 2,000 @ $4.00  2,000 units 

15 6,000 @ $4.40  8,000 units 
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19  4,000 units 4,000 units 

30 2,000 @ $4.00  6,000 units 

 

Instructions: 

1- Calculate Goods Available for Sale 

2- Assume that Mazin Inc.’s 6,000 units of inventory consists of 1,000 units from the March 2 purchase, 

3,000 from the March 15 purchase, and 2,000 from the March 30 purchase.   Compute the amount of 

ending inventory and cost of goods sold. 

3- Use FIFO and LIFO to compute the amount of inventory and cost of goods sold under the perpetual and 

periodic systems. Show who (FIFO or LIFO) would be get the same amount whether a perpetual or 

periodic system is used and why? 

. 

 

 

 

 

 

 


